LNCF0539A

MODEL#:

?

i

service(@domioutdoorliving.com

Missing part? Damaged?
Contact us via email at

© Copyright 2022-2024 domi LLC. | All Rights Reserved.

www.domioutdoorliving.com

B
; Aa

5




BEFORE STARTING ASSEMBLY

(D Some parts have metal edges. Please be careful when handling
components. Always wear work gloves.

@ Please check all parts and components to ensure that there are
no damages or missing items BEFORE starting the construction of
the product.

@ Please do not fully tighten the bolts prior to complete assembly.

@ Retain for future reference. Read carefully. For domestic use.

I\ —
o




Please check all parts
and components to
ensure that there are
no damages or missing
items BEFORE starting
the assembly of the
product.

If you find any missing
parts, Please contact
Domi customer service
at any time, and we will
reply within 24 hours.




Please check all parts
and components to
ensure that there are
no damages or missing
items BEFORE starting
the assembly of the
product.

If you find any missing
parts, Please contact
Domi customer service
at any time, and we will
reply within 24 hours.

@) 1 X







(((((@

M6X12

%

@

®

®
.-@ :
@ 16 X




.9

—

O 1X

(((((((@

M6X18
4 X

S

D6

G 4X

\

\
2
/A

7/




® 11X

(((((@

M6X12

¢) 4X

A\ Pay attention to the installation
direction of the baffle.




A\ Pay attention to the installation
direction of the baffle.

(((((@

M6X12

4 X

@




Turn Around




Pay attention to the installation direction of the back wall,
Not in the direction of people.







11

Pull-down Buckle

Insert

%

Insert







)

4 X
1X
1X

@))))))))))))
M6X32
2 X
D6
2 X

(((((((@
M6X18

MM

@

B)

€0
T

)
@

o wa a 7a aw,)
JAY . - — A ¥ S— ¥ A—.\".
V.4 \ w—







©

[ =
CARE & SAFETY

It is of utmost importance to assemble all of the parts according to the
directions. Do not skip any step.

Wear safety goggles and always follow the manufacturer’s instructions
when using power tools.

Hot items such as recently used grills, blowtorches, etc., must not be
stored in the box.

Not designed for carrying items.
Do not stand on lid.

To prevent risk of suffocation, do not allow children to play inside the box.

IF THERE ARE MISSING OR BROKEN PARTS, PLEASE DO NOT RETURN
THE PRODUCT DIRETCLY.

Please log onto our website, or contact Customer Service.

www.domioutdoorliving.com




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18

